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HE  WBRoOSBEEY ¢ BHELZalT5E, [H] = CaThirnb,
[H*] = (1.00 X 102mol/L) X (4.00 X 10%) = 4.00 X 10 mol/L
L7=23- T, pH = -logiw(4. 00 X 10 = -2log,(2.00) + 4,00
M = -0.602 + 4,00 = 3,398 = 3.40
% pH = 3.40
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HE L =Cd/U-a) XV l-a=1&RRTLE,
K = (1.00 X 10%mol/L) X (4.00 X 10722
(2) = 1,60 X 10-5 mol/L
% K o=1.60X 107 mol/L
(1) | £i = [H2CO3]/[CO2] K = [H*1[HCO371/[H2CO3]
(2) | [H*] = [HCOs7]
(3) | [H2COs] = [H*)¥/ K, [CO:] = [HY]¥/ Kk,
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(4) | €= [CO2] + [H2CO03] + [HCO3]
(5) | (1+4) [H*]% + Ki&[HY] - Chif = O
©) | [H] = {~kif + (K2KE+ ACKK) 2} /2
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6.0 kJ/mol X 18 g/ (18 g/mol)+4.2 J/(g+K) X 18 gX (100-0)KX 107
[ 4 + 41 kJ/mol X 18 g/ (18 g/mol) = 54.56 kJ

U3 55 kJ
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3,0 X 10°Pa X 1.OL=A X (1.0+2.00 L A=10 X 10° Pa

6.0 X 10°Pa X 2.0L =8 X (1.0 +2.00 L A =40 X 10° Pa
FH1 | P=FR+ A =50 X 10° Pa

% B = 1.0 X 10° Pa, A= 4.0 X 105 Pa, P= 5.0 X 10° Pa
HE
ENENOWMBEDOFEIILLTOL S5,
CH4 + 20, i COz + 2H20
| BRSE (Pa) 1.0 X 10° 4.0 X 10° 0 ‘ 0

mio | L& (Pa] -1.0 X 10° -2.0 X 10° +1.0 X 10° (+2.0 X 10°)

Bt (Pa) 0 2.0 X 10° 1.0 X 10° (2.0 X 10°
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P=20 X 10°Pa + 1.0 X 10° Pa = 3.0 X 10° Pa

% 3.0 X 10° Pa
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